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OR(3721d)

Describe with neat sketch the working of Magneto
ignition system.

T AT S olell &1 BrAyore
B ARG b g1 fod |

9. Write in brief the combination of splash and
Forced feed lubricating system.

AT U9 BIXS WIS Eigd HYdd UITell
@ ey ¥ fod |

OR(3721d)

Calculate the brake power of a 2 cylinder 4 stroke
cycle IC engine 12x15 cm. The mean effective
pressure is 700 kPa and speed of crankshaft is
1500 revolutions per minute the mechanical
efficiency is 70 %.

12x15 9 3mepR @& < Rifavsy IR e
Ish MR P <& sf~oid & 9 grax ol
WorET B Ife YATdl |1ed <919 700 kPa dIT
HHIMTGS I T 1500 rpm T Iifw <erar
70%® |

N4042 1611404

2019(Even)

Time : 3Hrs. Sem. IV - Ag. Engg
F.P.T

Full Marks :70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |

Answer all five questions from Group B, each question

carries 4 marks.

qu-B & wft ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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Define compression ratio with its expression .

SHTE FJUTd Bl AGd Afza gR=TRT
®Y |

4

OR(3721d)

Define Timing gear and explain in brief the
work of Timing gear in the engine.

st fIsR &1 uRu g &) e sfo=
@ <rsfiT fiieR & &t &1 98v d ford |

Define super charger and write its function and

advantages. 4

U= Aok &l gRERT & d=m s drd
vqd BRIe fod |

OR(3721d)

Write in brief the various types of clearances in
the I.C engine and tractor.

ITR® <8 sf~oid vd e @ fafr=
UhR & fheR-AW I &Y Bl ford |

N4042

(i)

(iii)

(iii)

(iv)

3 1611404

sifea <t Rafervsy & Saa—1 g1 @ a8

.................... $Erdl & |
(a1) sf~sdcs Bfd urax
(@) s 8 uraR

(d) SER 8" urar
(2) haa=ral 81 uraR

Connecting rod is fitted between ............
(a) Piston and crank shaft

(b) Piston and cam shaft

(c) Crank shaft and cam shaft

(d) None of these

(@1 faRes vd ddemyc
(@) foReT vd ®H ;MU
() shHAMTe Td HH IATIS
(?) 379 9 DIz e

An agricultural worker is capable of
supplying an average ................. for a
period of 8 to 10 hours work per day.
(a) 0.5 hp

(b) 0.1 hp

(c) 1.0 hp

(d) None of these

P.T.O



O’'Ld

| 2R} b hizh
L& Ibhab) kak @ blogs ok @52 |2

"JOLIQ UI 9JLIA\ "QUISUD J[IAD
O1IS 0M) JO SONISLIAIOBIBYD UTRI O} dIB JRYA\

(lbkE)IO

|2 @ik B blogs @152 (> lkb kings
@32 Mk AR Prd DRJIkAh RRD:I 1Rt

14 "QUISUD O30I)S 0M) PUB SUITUD dOJ)S JNOJ
10} uo1ssaIdxo i1 yIm [BAIIU SULIL] QUL

LER) Lk Lbald Pl Lad Dbl
Lbb3 1D e DRjikdlh b IDIBD dLDRIE

‘31 Sunodyye
SI019BJ JLIM pUB AJUSIOIJD JLIOWN[OA JUIFA(]

(lbkE)IO

| BR & Mok PLd
23 pad DiyYlejh (@ 22(lkbkIS MbIX

'sad£3 $31 M I91oWwoWwRUA( JeqMeBI(] QU

YOvIIolL €1 (442

€

3sayy Jo auoN (p)

(q) pue (&) yog (9)
Iopurfko oyj Jo
910q JO IdJoWeIp pue 3300 Jo Yi3ud (q)
210Q JO BaIR
[BUOI103S SSOID puk ayo1s Jo ISudT ()
""""""" JO one1 dy} SI O11BI 910Q-0NS

Bk Bl B ki3 (2)

(B) 2y (i) Lel> (B)

Bios]s Blalpe3 Blakid (b)

Lingl3 ka3 223P1a (I8

@ pieae ingyE Bl

3say3 Jo auoN (p)

(q) pue (&) yiog (o)

ourdus uonmugy vorssaxdwo)) (q)
our3ud uonmgy Jojeingre)) (&)
..................... .IOJ Slu@SQldQl GUIqu ID

Bk Ble B ki (2)
bpliabate 01 (R)

bpliabale 10 (b)

bpliabale S0 (k)

| @ b 1Dk |\P

bPejla Plrlle l21p 2 [eld
2B 0L B 8 LRVIK Dk b @b

(442 14

(18)

(»)

(»)

(an)

YOvIIol



1611404 12 N4042

(xx)  qred <ISTAT SEU™ ... BT

GROUPB

Answer all Five Questions. 4x5 =20

Il uig gl & SR o

2.

Define Indicated power and give expression for
measuring Indicated power for four stroke and
two stroke cycle IC engine.

Aenfras wfaa & aR9T &R a2 IR
XIP 9% U4 <l I¢Id dh RS &
st &1 Qurfae wfdd @ A9 ¥g A9 < |

OR(3721d)

What are the possible causes of not-starting of
the engine of a tractor ?

Uh ¢deX sf~ol- &I A8l wIe gl @
FATfId BRYT BIT—dId I 8 2 |

N4042

(vi)

(vii)

(vii)

(viii)

5 1611404

EIH—qR U oo $T IUTd

BIaT 2 |

(31) TEId B H4g U9 dIX DI BIC
aaq%bd

(@) ¥Id B <618 Ud d9IR ) a1
R~ @

(@) <= (1) $iR (@)

(®) 39 & I3 &l

The power operated action based Agricultural
Machinery is ...............
(a) Cultivator

(b) Rotavator

(c) Disc harrow

(d) None of these

wifda arfera fopar smenRa $iY a=fi=:
L BIdl 2 |

(31) ®edrder

(@) MR

@) o 221

(]) 399 4 HIg =S

For Petrol engine, Thermostate valve is
deigned in such a way that it fully opens
at ...

(a) 82°C

(b) 88°C

(c) 70°C

(d) None of these

P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)

10 N4042

Timing gear controls the ................

(a) Timing of Ignition

(b) Timing of opening and closing of valves
(c) Timing of fuel injection

(d) All of the above

(31) <81 &1 9HI

(@) d9rca G 9 95 BIF BT 99
(|) Wa s & G999

(%) Swida g+

The type of Dynemometer is used for
measuring the drawbar power is ....................
(a) Prony brake type

(b) Electrical type

(c) Strain gauge type

(d) None of these

N4042

x)

(xi)

(xi)

(xii)

7 1611404

Y 4 d9fa st 4 tb Jae DI
_________________ ard DY AMATIHAT Bl 2 |
(31) 50-60 foHfue

(@) 40-50 fofaue

(=) 0.5-25 fofug

(%) 30-40 fofys

A cylinder block is normally made of
(a) Cast Iron

(b) Cast steel

(c) Spring steel

(d) None of these

(|) o= gWrd
(€) 379 9@ ®Ig L

Fuel injection pump supply fuel to the..........
(a) Cylinder

(b) Nozzle injector

(c) Fuel filter

(d) Fuel tank

P.T.O



O’'Ld

yeys 10300y (p)
1833 Surwi], (9)

yeys yuer) (q)
yeys we) (e)
........................... /{q LIQAI.Ip SI dull’ld [IO

Bk Ble B kRE (2)

AbIME (R)

Iblka (B)

ke (k)

12 1|3

"""" B Rl blh QM b BISh

353y Jo duoN (p)
[enbg (o)

1o431H (q)
oMo (e)

'[9S JO JeY)
uey) SI [O.Ile JO aN[A DIJLIO[R))

e 3o B e ()
() ae (1) Wi ()
LBkl Ay (b)

blbd 2oy (1)

YOvII91 6

(1A%)

(ax)

(%)

(A1x)

(442

asayy Jo duoN (p)

(q) pue (&) mog (o)

awn[oA juejsuo)) (q)

ainssaid jueisuo)) (&)

"""""""" 1€ SINd50 uonIugr ‘Quigud [onad uy

Bb Ble B pb3 (2)
B (b)
Sih ph (i)
I @ 1pUs |Rlihie
UollaK By LD

f22p3 ind SIpBIA ASaR|RY P2k

asayy Jo duoN (p)

Wo)SAS Pady padioj pue yse[ds Jo uoneurquio)) (9)

wo)sAs yserds (q)

WA)SAS Pady padio (e)

‘popraoid

S! UOHBO!.IC[H[ JO ................... 1(“'8.19[138
J0joe1] duidud paads ySIH JopuIjAd rjnw uy

®2 Bhh (2)

222¢| Rhh ()

22pload Pin|k (B)

220R|RY (Ie)

| 2 bae prhiie

LRE | T hth Llablne3 Rhh

(442 8

(A1)

((2199)

((2199)

(%)

YOvIIol



1611404 17 N4042

10. Explain the working principle of Hit and miss

11.

system of governing with the help of a neat diagram.

U Wow fuaa & gerdr 9 fae vvs i
Ta-R ) derfrae AT B ford |

OR(372rd)

Describe the valve operating system mechanism of
a compression ignition system engine giving neat
sketch.

TP oo a3 &1 gerar 9 dled sfiuRfeT
WoTTell HHITH $IeE yomell 3o 3q =

Explain in brief the working of a nozzle injector.
6

TP Alolel soldex &l I YUlTell &I G&ay
7 fod |

OR(3721d)

Write in brief the working of a power tiller.

TP Yrax feeRk & drduviell & gag & fad |

kokock

N4042 17 1611404

10. Explain the working principle of Hit and miss

11.

system of governing with the help of a neat diagram.

Uh W fuaa & gerdr 9 fie vvs i
TaHR ) dearfras R B ford |

OR(3721d)

Describe the valve operating system mechanism of
a compression ignition system engine giving neat
sketch.

Ueh W@o R &1 gerdr 9 ared iuRfeT
YoTTell HHITN SIeE yomrel gfvor 3g 2

Explain in brief the working of a nozzle injector.
6

TP Alolcl soldex &l B YUlTell &I G&ay
7 fod |

OR(3721d)

Write in brief the working of a power tiller.

TP Urar feeRk & drduvmell & gag # ford |

kkock
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